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Time: 10’ Chem 205 Friday, March 15, 2013
Drop Quiz 5 H. Deeb

Name:

1. What is the visual change that indicates when the reaction is complete in today’s
experiment?

5) Dorron Sar ol Jo b,

2. Thiosulfate ion is oxidized by iodine in aqueous solution according to the equation:
28,05 (aq) + l(aqQ) — S406”(aq) + 2I (aq)
I£0.025 mole of S,03” is consumed in 0.50 L solution per minute: e P (OF 74
a) Calculate the rate of removal of S,05% in M/s. bt 1) |
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b) What is the rate of rémoval of L? )
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3. The following rate data were collected for the reaction: o B
2NO +2H2 =k Nz e 2H20 m-w“'“--._ﬁ
Experiment | [NOJo [Ha]o | A[N2J/ At P
(M) (M) (M/h) xl\j (2H
1 0.60 0.15 0.076 o N
) 060 (030”7 |0.15 )
3 0.60 .60 0.30 T
4 1.2 0.60 |1.21 (L) 2NO]
‘ : = * A ! »
Determine the rate law. " & ‘
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